一、单项选择题(只有一个选项正确，共119道小题) 
1. 曲面x2+y2+z2=12在点（2.2.2）的切平面方程是（ ） 
  (A) x+y+z=4   (B) x+y+z=12   (C) x+y+z=2   (D) x+y+z=6 
正确答案：D 
2. 设平面区域(a)由x轴，y轴及直x+y=1围成，则二重积分[image: image1.png]{f redo

=



化为累次积分后为（    ）
	(A) [image: image2.png]Jiadf ! re





	  (B) [image: image3.png]§2 b o v





	  (C) [image: image4.png]Jiaef rce v





	  (D) [image: image5.png]Jiaf ree e






正确答案：A 
3. 设3x2+4y2-1=0,则dy/dx=() 
  (A) 4y/3x   (B) 3x/4y   (C) -3x/4y   (D) -4y/3x 
正确答案：C 
4. 函数y=1/(x+2)单调减少的区间是() 
	(A) [image: image6.png](—m,4m)





	  (B) [image: image7.png](-o-2)





	  (C) [image: image8.png](-0,-2),(-2,4m)





	  (D) [image: image9.png](-24w)






正确答案：C 
5. [image: image10.png]


的原函数是（  ）
  (A) arcsinx 
  (B) -arcsinx 
	(C) [image: image11.png]et /57|





	(D) [image: image12.png]e |






正确答案：C 
6. [image: image13.png]§ tetef Ly



 (  ) 
  (A) 0   (B) 1/4   (C) 1/2   (D) 1 
正确答案：B 
7. 函数f(x)=1+xsin2x是() 
  (A) 奇函数   (B) 偶函数   (C) 有界函数   (D) 非奇非偶函数 
正确答案：B 
8. 下列平面中过点（3，-1，5）且与直线平行x/2=(-y/1)=z/0的平面为(  ) 
  (A) z-5=0   (B) x-3=0   (C) y+1=0   (D) (x-3)/2=(y+1)/-1 
正确答案：A 
9. [image: image14.png]


级数的收敛区间是()
  (A) [image: image15.png](-o,-2),(24m)



  (B) (-2,2)   (C) [-2,2]   (D)  [image: image16.png](0. +m)




正确答案：A 
10. 设函数u=ln(x2+y2+z2)，则du| (1,1,1)= （ ） 
  (A) (dx+dy+dz)/3   (B) 2(dx+dy+dz)/3   (C) dx+dy+dz   (D) 4(dx+dy+dz)/3 
正确答案：A 
11. 级数[image: image17.png]Lltn



（ ） 
  (A) 收敛   (B) 绝对收敛   (C) 的敛散性无法判断   (D) 发散 
正确答案：D 
12. [image: image18.png]fsin 3xcdc.



 (  ) 
  (A) cos3x/3+C   (B) -cos3x/3+C   (C) -cos3x+C   (D) cos3x+C 
正确答案：B 
13.设f(x)是的连续函数，则[image: image19.png]d i
;fo(x’)dm



（）
  (A) 2f(x2)   (B) 2x2f(t*t)   (C) f'(t2)   (D) f(x2)
正确答案：A 
14.设[image: image20.png]


，则[image: image21.png]D'(x)=



（）
  (A) 1/（1+sin2x）      (B) cosx/（1+sin2x） 
  (C) -cosx/（1+sin2x）   (D) -1/（1+sin2x） 
正确答案：C 
15. 当D={(x,y)|-1<=x<=1,-1<=y<=1}时,则[image: image22.png]]:!’(x’ 3=



（     ）
  (A) 0   (B) 1   (C) 2   (D) 12 
正确答案：D 
16. 
设函数z=x2+y2-2x-4y，则()
  (A) 在点（1，2）处取最大值5   (B) 在点（1，2）处取最小值-5 
  (C) 在点（0，0）处取最大值0   (D) 在点（0，0）处取最小值0 
正确答案：B 
17. 
函数y=xcos2+(x/(1+x2))+x3是（ ）
  (A) 奇函数   (B) 偶函数   (C) 非奇非偶函数   (D) 有界函数 
正确答案：A 
18. 函数[image: image23.png]


的周期是() 
  (A) 2 [image: image24.png]


  (B) 0   (C) 1   (D) [image: image25.png]



正确答案：C 
19.设y=logax  (a>0,a不为0)，则dy=（   ）
  (A) dx/x   (B) 1/x   (C) 1/xlna   (D) dx/xlna 
正确答案：D 
20. 下列集合可作为一条有向直线在空间直角坐标系中的方向角的是（） 
  (A) 45°，45°，60°   (B) 45°，60°，60° 
  (C) 30°，45°，60°   (D) 45°，60°，90° 
正确答案：B 
21. [image: image26.png]E g



的正确答案是（）
  (A) -cos2x   (B) 2xsinx2   (C) 2xcosx4  (D) sin2x

正确答案：C 
22. 设a>0,b>0，则[image: image27.png]a -5

= —




 
  (A) 不存在   (B) a/b   (C) [image: image28.png]


  (D) ln(a/b) 
正确答案：D 
23. 在抛物线y=x2上点M的切线的倾角为45度，则点M的坐标为（  ） 
  (A) （1/2，1/4）   (B) （1，1）   (C) （1/4，1/2）   (D) （-1，1） 
正确答案：A 
24. 函数[image: image29.png]y:l.man;)



的周期是（    ）
  (A) 2 [image: image30.png]


  (B) [image: image31.png]


   (C) [image: image32.png]


/2   (D) 0 
正确答案：B 
25. 过点（1，0，2）且与已知直线[image: image33.png]


平行的直线为()
	 (A) [image: image34.png]x-1_y_z+2
2 0






	  (B) [image: image35.png]




	  (C) [image: image36.png]x-1_y_z+2
1 0 -2






	  (D) [image: image37.png]





正确答案：D 
26.设[image: image38.png]2
o =f, O



则[image: image39.png]F)=



（）
  (A) 2f(x)   (B) f(4x)   (C) f(2x)   (D) 2f(2x) 
正确答案：D 
27. 级数[image: image40.png]Tl
Zh(1+ 3



=() 
  (A) 收敛   (B) 绝对收敛   (C) 不一定发散   (D) 发散 
正确答案：D 
28. [image: image41.png]2-2x+l

S x




 =（    ）
  (A) 1/2   (B) 0   (C) 1   (D) 
正确答案：B 
29. 设[image: image42.png]{x:i(t—gu)

v =2(1—cos?)



则[image: image43.png]


=（） 
  (A) 0   (B) 1   (C) -1   (D) 2 
正确答案：B 
30. 微分方程2y''+3y'+y=0的通解为() 
  (A) y=C1e-2x+C2e-3x   (B) y=e-x+C2e-x/2 
  (C) y=C1e-x+C2e-x/2   (D) y=e-x+C2e2x 
正确答案：C 
31. 函数5e5x的一个原函数为（ ） 
  (A) e5x   (B) 5e5x   (C) e5x/5   (D) -e5x 
正确答案：A 
32. 设 y=x+(1+x2)1/2 则y'=()  
  (A) [image: image44.png]xt-a2




	  (B)  [image: image45.png]




	  (C)  [image: image46.png]




	  (D)  [image: image47.png]





正确答案：C 
33. 设函数f(x,y)=xy+y/x，则fx（1，1）= （ ） 
  (A) 0   (B) 1   (C) -1   (D) 2 
正确答案：A 
34. 设曲线y=e1-x2与直线x=1的交点为，则曲线在P点的切线方程是（ ） 
  (A) 2x-y+2=0   (B) 2x+y+1=0   (C) 2x+y-3=0   (D) 2x-y+3=0 
正确答案：B 
35. f(x) 在点x可导是f(x)在x点连续的（ ） 
  (A) 充分条件   (B) 必要条件   (C) 充分必要条件   (D) 无关条件 
正确答案：A 
36.如果f(x0)=0且f’（x0）存在，则[image: image48.png]in T

=



=（）
  (A) f’（x0）   (B) 0   (C) 不存在   (D) [image: image49.png]



正确答案：A 
37. 判断级数[image: image50.png]


是(   )
  (A) 绝对收   (B) 条件收敛.   (C) 条件收敛且绝对收   (D) 发散 
正确答案：B 
38. 已知在抛物线y=x2上点M的切线的倾角为[image: image51.png]


/4，则点M的坐标为()
  (A) (1,1)   (B) (1/2,1/4)   (C) (-1/2,1/4)   (D) (-1,1) 
正确答案：B 
39. [image: image52.png]


=(  ) 
  (A) [image: image53.png]


  (B) 4/3   (C) 0   (D) 2/3 
正确答案：C 
40.[image: image54.png]


函数的定义域是（ )
  (A) [image: image55.png]


  (B) (0,1)   (C) (-1,0)   (D) (-1,1) 
正确答案：D 
41.  设v=v(x)在x可导，而且v(x)不为0，那么函数1/v(x)也在x可导，且有[1/v(x)]'=（）
	(A)  [image: image56.png]




	  (B) [image: image57.png]




	  (C) [image: image58.png])
V(@






	  (D) [image: image59.png]Y
V@







正确答案：D 
42. [image: image60.png]


=() 
  (A) 1   (B) [image: image61.png]


  (C) 不存在   (D) 0 
正确答案：B 
43. [image: image62.png]3 %(—m,{m)

=



内的和函数是（  ）
  (A) ln(1-x)   (B) ln(1+x)   (C) e-x   (D) ex
正确答案：B 
44. 设[image: image63.png]


则x=1为f(x)的（  C  ）
  (A) 连续点   (B) 无穷间断点   (C) 跳跃间断点   (D) 可去间断点 
正确答案：C 
45. 设函数f(x)在[a,b]上连续，则f(x)在区间[a,b]上的平均值[image: image64.png]


=(    )
  (A) (f(a)-f(b))/(a-b)   
(B) f(a)-f(b)  
	(C) [image: image65.png]




	  (D) [image: image66.png]§ roa






正确答案：C 
46. 下列广义积分收敛的是（ ） 
	(A) [image: image67.png]T





	  (B) [image: image68.png]




	  (C) [image: image69.png]-1
T





	  (D) [image: image70.png]





正确答案：D 
47.设y=tgx_secx，则dy=（   ）
  (A) sec2x+secxtgx    (B) (sec2x+secxtgs)dx 
  (C) (sec2xx+tg2x)dx   (D) sec2x+t 
正确答案：B 
48.用待定系数法求方程y''+2y'=5的特解时，应设（   ）
	(A) [image: image71.png]




	  (B) [image: image72.png]




	  (C) [image: image73.png]




	  (D) [image: image74.png]





正确答案：C 
49. 函数[image: image75.png]


的定义域为（ )
	(A) [image: image76.png]




	  (B) [image: image77.png]1< +y* <4





	  (C) [image: image78.png]1< +y* <4





	  (D) [image: image79.png]1< +y* <4






正确答案：D 
50. 设区域为: [image: image80.png]


,则[image: image81.png]x+y



（） 
	(A) [image: image82.png]-9





	  (B) [image: image83.png]#(e’ —€)





	  (C) [image: image84.png]27(e” — &)





	  (D) [image: image85.png](e’ - o)






正确答案：A 
51.曲线y=(x-1)3-1的拐点是（    ）
  (A) （2，0）    (B) （1，-1） 
  (C) （0，-2）   (D) 不存在的 
正确答案：B 
52. 曲线y=e1/x-1的水平渐近线方程为（ ） 
  (A) x=1   (B) y=1   (C) x=0   (D) y=0 
正确答案：D 
53.设z=(x2+y2)/2，则[image: image86.png]e




（     ）
  (A) z=x+y/2   (B) x   (C) y   (D) x+y 
正确答案：B 
54.函数[image: image87.png]=x7(x>0x=])




，则[image: image88.png]e =



（    ）
  (A) 4(dx+dy)   (B) 4(dx-dy)   (C) 4(dx+ln2dy)   (D) 4(dx-ln2dy) 
正确答案：C 
55. 微分方程y''+2y'-8y的通解为（    ）
  (A) y=C1e-4x+2e2x    (B) y=4e4x+C2e -2x 
  (C) y=C1e-4x+C 2e2x   (D) y=C 1e4x+C2e -2x 
正确答案：C 
56.设F(x)是f(x)的一个原函数，则[image: image89.png]jm—h)ak



=（   ）
  (A) F(1-2x)+C   (B) F(1-2x)/2+C 
  (C) -F(1-2x)+C   (D) -F(1-2x)/2+C 
正确答案：D 
57. 当时x=1或x=-1时y=x3+3px+q，函数有极值，那么p=（ ） 
  (A) -1   (B) 1   (C) 0   (D) 2 
正确答案：A 
58. [image: image90.png]


 () 
  (A) 0   (B) 不存在   (C) 1   (D) [image: image91.png]



正确答案：A 
59.设数列an,bn及cn满足：对任意的, [image: image92.png]


且[image: image93.png]


，[image: image94.png]km (c, ~2,) =0



，则（   ）
  (A) 0   (B) 1   (C) 2   (D) -2 
正确答案：C 
60. A lawyer’s income is usually very high, ________ more than one million yuan a year. 
  (A) add up to      (B) added up to 
  (C) amounted to   (D) amounting to 
正确答案：D 
61. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) coast   (B) broad   (C) soap   (D) float 
正确答案：B 
62. Because of the terrible weather, neither I nor she ________ have a walk this evening. 
  (A) am going to   (B) are going to   (C) is going to   (D) was going to 
正确答案：C 
63. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) exercise   (B) excuse   (C) explain   (D) tremely 
正确答案：A 
64. It is not polite to ________ when someone is making a speech at a meeting like this. 
  (A) turn up   (B) cut in   (C) speak out   (D) stand by 
正确答案：B 
65. ________, its very tidy. 
  (A) As her room is small   (B) Small as her room is 
  (C) As small her room is   (D) Small as her room 
正确答案：B 
66. Please speak loudly ________ everyone in the classroom can hear you. 
  (A) so that   (B) so as to   (C) in order to   (D) so on 
正确答案：A 
67. On April 1st they flew to Beijing, ________ they stayed several days. 
  (A) when   (B) which   (C) where   (D) there 
正确答案：C 
68. She should stop working; she has a headache because she ________ too long. 
  (A) has been reading   (B) had read   (C) is reading   (D) read 
正确答案：A 
69. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) Wednesday   (B) thunder   (C) language   (D) twentieth 
正确答案：C 
70. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) word   (B) world   (C) sword   (D) worm 
正确答案：C 
71. The experiment ________ the discovery of a cure for cancer. 
  (A) happened to   (B) led up   (C) resulted in   (D) set up 
正确答案：C 
72. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) graduate   (B) recognize   (C) apology   (D) finger 
正确答案：C 
73. Nobody but John ________ the secret. 
  (A) know   (B) ) knows   (C) have known   (D) is known 
正确答案：B 
74. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) hall   (B) fall   (C) small   (D) shall 
正确答案：D 
75. She got to know the young man very well ________ she had worked for so long. 
  (A) with whom   (B) in whom   (C) whom   (D) to whom 
正确答案：A 
76. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) maps   (B) bags   (C) desks   (D) bikes 
正确答案：B 
77. The committee members propose that the plan ________ postponed for a few days. 
  (A) being   (B) to be   (C) been   (D) be 
正确答案：D 
78. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) butter   (B) mute   (C) mule   (D) assume 
正确答案：A 
79. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) enough   (B) rough   (C) tough   (D) though 
正确答案：D 
80. When the old lady is alone in the house, her dog makes her feel ________ and relaxed. 
  (A) safe   (B) healthy   (C) lonely   (D) angry 
正确答案：A 
81. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) Christ mas   (B) tight ly   (C) first   (D) test 
正确答案：A 
82. —Do you like the book Sidney gave you? —Very much. Its exactly ________ I wanted. 
  (A) one which   (B) the one   (C) one that   (D) one what 
正确答案：B 
83. All of her living cost ________ 2,000 yuan each month. 
  (A) gets to   (B) equals to   (C) arrives at   (D) comes at 
正确答案：D 
84. I don’t mind ________ the decision. 
  (A) you to delay making     (B) your delaying making 
  (C) your delaying to make   (D) you delay to make 
正确答案：B 
85. Your little girl is becoming very rude. You ________ scold her. 
  (A) may   (B) can   (C) ought to   (D) need 
正确答案：C 
86. It’s reported that the police are ________ the area for the criminal. 
  (A) processing   (B) searching   (C) operating   (D) handling 
正确答案：B 
87. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) childhood   (B) chicken   (C) character   (D) chairman 
正确答案：C 
88. Though he ________ well prepared before the job interview, he failed to answer some important questions. 
  (A) will be   (B) would be   (C) has been   (D) had been 
正确答案：D 
89. He spoke so quickly that I did not ________ what he said. 
  (A) catch   (B) accept   (C) take   (D) listen 
正确答案：A 
90. Most Chinese like to drink tea. But some prefer coffee ________ tea. 
  (A) to   (B) with   (C) for   (D) against 
正确答案：A 
91. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) mamage   (B) many   (C) matter   (D) madam 
正确答案：B 
92. ________ he was seriously ill, I wouldn’t have told him the truth. 
  (A) If I knew   (B) If I know   (C) Had I known   (D) Did I know 
正确答案：C 
93. ________determines a good meal varies from country to country. 
  (A) What   (B) That   (C) It   (D) Which 
正确答案：A 
94. So many representatives________, the conference had to be postponed. 
  (A) to be absent   (B) were absent   (C) being absent   (D) was absent 
正确答案：C 
95. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) turn   (B) saturday   (C) hurt   (D) occur 
正确答案：B 
96. We anticipate ________ problems in carrying out the reform. 
  (A) run into   (B) to run into   (C) running into   (D) ran into 
正确答案：C 
97. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) aunt   (B) author   (C) austrilia   (D) autumn 
正确答案：A 
98. The city has decided to ________ all the old buildings. 
  (A) break away from   (B) get rid of   (C) come up with   (D) knock down 
正确答案：D 
99. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) coast   (B) broad   (C) soap   (D) float 
正确答案：B 
100. If you travel in a foreign country, a tour ________ may save you a lot of trouble. 
  (A) director   (B) guide   (C) helper   (D) assistant 
正确答案：B 
101. I’d like to ________ your essay with you when you have time. 
  (A) go for   (B) go over   (C) go after   (D) go by 
正确答案：B 
102. He doesn’t feel like ________ a picnic in the park this weekend, and he suggested watching the football match instead. 
  (A) have   (B) to have   (C) having   (D) had 
正确答案：C 
103. You’d better ________ the whole article at once. 
  (A) copy   (B) to copy   (C) copying   (D) copied 
正确答案：A 
104. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) deal   (B) deaf   (C) weak   (D) beat 
正确答案：B 
105. Don’t worry! Just do it ________ I do it. 
  (A) like   (B) since   (C) for   (D) as 
正确答案：D 
106. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) lecture   (B) recognize   (C) level   (D) recent 
正确答案：D 
107. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) worth   (B) worn   (C) worst   (D) word 
正确答案：B 
108. The manager told us never to ________ till tomorrow what we can do today. 
  (A) come up   (B) turn on   (C) put off   (D) give out 
正确答案：C 
109. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) rather   (B) worth   (C) thus   (D) whether 
正确答案：B 
110. If you ________ smoking and drinking, your health will improve soon. 
  (A) gave up   (B) had given up   (C) give up   (D) will give up 
正确答案：C 
111. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three. 
  (A) asleep   (B) awake   (C) hasten   (D) Christmas 
正确答案：C 
112. He said, “I ________ a lot of new words by the end of last year.” 
  (A) had already learnt         (B) have already learnt 
  (C) would have already learnt   (D) already learnt 
正确答案：C 
113. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) gone   (B) done   (C) another   (D) glove 
正确答案：A 
114. The machine will continue to make much noise ________ we have it repaired. 
  (A) when   (B) if   (C) because   (D) unless 
正确答案：D 
115. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) print   (B) high   (C) right   (D) mind 
正确答案：A 
116. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) persuaded   (B) happened   (C) treated   (D) wounded 
正确答案：B 
117. ________, she often behaves like a child. 
  (A) As old is she   (B) As old she is   (C) Old as is she   (D) Old as she is 
正确答案：D 
118. The government gave several good ________ for increasing the tax on cigarettes. 
  (A) purposes   (B) reasons   (C) questions   (D) problems 
正确答案：B 
119. There are 4 words marked A), B), C) and D ) in each group. Choose the one which underlined part has a different pronunciation from the other three 
  (A) circle   (B) bicycle   (C) cake   (D) ceiling 
正确答案：C 
五、阅读理解、完形填空题(共15道小题) 
120. The human body has developed its millions of nerves to be highly aware of what goes on both inside and outside of it. This helps us aajust to the outside world. Without our nerves and our brain, which is a system of nerves, we couldn’t know what’s happening. But we pay for our sensitivity. We can feel pain when the slightest thing is wrong with any part of our body. The history of torture is based on the human body being open to pain. But there is a way to handle pain. Look at the Indian fakir (苦行僧) who sits on a bed of nails. Fakirs can put a needle right through an arm, and feel no pain. This ability that some humans have developed to handle pain should give us ideas about how the mind can deal with pain. The big thing in withstanding pain is our attitude toward it. If the dentist says, “This will hurts a little,” it helps us to accept the pain. By staying relaxed, and by treating the pain as an interesting sensation, we can handle the pain without falling apart. After all, although pain is an unpleasant sensation, it is still a sensafion, and sensations are the stuff of life. [共5题] 
(1) The human body has developed a system of nerves that enables us to ________. 
  (A) stay relaxed    (B) avoid pain   (C) stand torture    (D) feel pain  
正确答案：D 
(2) What does the writer mean by saying “we pay for our sensitivity” in Para.1? 
  (A) We have to take care of our sense of pain.  
  (B) We suffer from our sense of feeling.  
  (C) We should try hard to resist pain.  
  (D) We are hurt when we feel pain.  
正确答案：B 
(3) When the author mentions the Indian fakir, he shows that ________. 
  (A) fakirs possess magic power  
  (B) Indians are not afraid of pain  
  (C) people can learn to cope with pain  
  (D) some people are born without a sense of pain  
正确答案：C 
(4) What is essential for people to stand pain according to the writer? 
  (A) Their relaxation.    (B) Their interest.    (C) Their nerves.    (D) Their attitude.  
正确答案：D 
(5) The author believes that ________. 
  (A) feeling pain is part of our life  
  (B) pain should be avoided at all costs  
  (C) feeling pain can be an interesting thing  
  (D) magic power is essential for reducing pain  
正确答案：A 
参考答案：
121. Do you sometimes argue about what seems to you to be simple fact? Do you argue whether it’s cold outdoors or whether the car in front of you is going faster than the speed limit? If you get into such arguments, try to think about the story about the six blind men and the elephant. The first blind man who felt the elephant’s trunk said it was like a snake. The second who felt the elephant’s side said it was like a wall, while the third said it was like a spear as he touched the animal’s tusk. The fourth, who had hold of the elephant’s tail insisted that it was like a rope. The fifth man said it looked like a tree as he put his arms around one of the elephant’s legs. The sixth, who was tall and got hold of the elephant’s ears, said it was like a huge fan. Each man’s idea of the animal came from his own experience. So if someone disagrees with you about a “simple fact”, it’s often because his experience in the matter is different from yours. To see how hard it is for even one person to make up his mind about a “simple fact”, try this simple experiment. Get three large bowls. Put ice water in one. Put hot water in the second. Put lukewarm water in the third. Now put your left hand in the ice water. Put your right hand in the hot water. After thirty seconds, put both hands in the lukewarm water. Your right hand will tell you the water is cold. You left hand will tell you it’s hot! [共5题] 
(1) What makes people think about simple facts differently? 
  (A) The fact that simple facts differ from one another.  
  (B) The fact that people have different experience in the same simple fact.  
  (C) The fact that people often disagree with on another.  
  (D) The fact that it’s hard to make up one’s mind about simple facts.  
正确答案：B 
(2) Which of the following temperature is the closest to the meaning of the word “lukewarm” in the last paragraph? 
  (A) Above 0℃.    (B) Above 40℃.    (C) Above 20℃.    (D) Below 0℃.  
正确答案：C 
(3) The writer’s advice is ________. 
  (A) we should never think about simple facts  
  (B) we should never judge something with a one-sided view  
  (C) we should not agree about simple facts  
  (D) we must learn from the six blind men  
正确答案：B 
(4) After reading the last paragraph, we may think of ________. 
  (A) Newton’s law  
  (B) Crallilao’s theory of falling objects  
  (C) Einstein’s theory of relativity  
  (D) Marx’s On Capital  
正确答案：C 
(5) The main idea of this passage is ________. 
  (A) people often judge something according to his own experience  
  (B) people often agree about simple facts  
  (C) it’s hard for a person to make up his mind about a simple fact  
  (D) don’t care too much about simple facts  
正确答案：A 
参考答案：
122. It is hard to track the blue whale, the ocean’s largest creature, which has almost been killed off by commercial whaling and is now listed as an endangered species. Attaching radio devices to it is difficult, and visual sightings are too unreliable to give real insight into its behavior. So biologists were delighted early this year when, with the help of the Navy, they were able to track a particular blue whale for 43 days, monitoring its sounds. This was possible because of the Navy’s formerly top-secret system of underwater listening devices spanning the oceans. Tracking whales is but one example of all exciting new world just opening to civilian scientists after the cold war as the Navy starts to share and partly uncover its global network of underwater listening system built over the decades to track the ships of potential enemies. Earth scientists announced at a news conference recently that they had used the system for closely monitoring a deep-sea volcanic eruption for the first time and that they plan similar studies. Other scientists have proposed to use the network for tracking ocean currents and measuring changes in ocean and global temperatures. The speed of sound in water is roughly one mile a second, slower than through land but faster than through air. What is most important, different layers of ocean water can act as channels for sounds, focusing them in the same way a stethoscope (听诊器) does when it carries faint noises from a patient’s chest to a doctor’s ear. This focusing is the main reason that even relatively weak sounds in the ocean, especially low-frequency ones, can often travel thousands of miles. [共5题] 
(1) The passage is chiefly about ________. 
  (A) an effort to protect an endangered marine species  
  (B) the exposure of a US Navy top-secret weapon  
  (C) the civilian use of a military detection system  
  (D) a new way to look into the behavior of blue whales  
正确答案：C 
(2) The underwater listening system was originally designed ________. 
  (A) to monitor deep-sea volcanic eruptions  
  (B) to replace the global radio communications network  
  (C) to study the movement of ocean currents  
  (D) to trace and locate enemy vessels  
正确答案：D 
(3) The deep-sea listening system makes use of ________. 
  (A) the unique property of layers of ocean water in transmitting sound  
  (B) the capability of sound to travel at hligh speed  
  (C) low-frequency sounds travelling across different layers of water  
  (D) the sophisticated technology of focusing sounds under water  
正确答案：A 
(4) It can be inferred from the passage that ________. 
  (A) blue whales are no longer endangered with the use of the new listening system  
  (B) new radio devices should be developed for tracking the endangered blue whales  
  (C) military technology has great potential in civilian use  
  (D) opinions differ as to whether civilian scientists should be allowed to use military technology  
正确答案：C 
(5) Which of the following is true about the US Navy underwater listening network? 
  (A) It has been replaced by a more advanced system.  
  (B) It is now partly accessible to civilian scientists.  
  (C) It became useless to the military after the cold war.  
  (D) It is indispensable in protecting endangered species.  
正确答案：B 
参考答案：
123. Advice given by human resources officers in large foreign companies can help you find a satisfying job. Here are some useful suggestions. Don’t start writing your resume before your graduation. From the first day you enter the university, you have begun writing it. Plan to put your four years to full use so that at graduation your resume will be full of valuable experiences and remarkable academic results. Never apply to a company or for a job blindly. Find out where your interests lie and what your advantages are. Decide first what road you want to take for the rest of your life. Choose a company and a job that fits you well. Don’t feel inferior to boys if you are a girl job-hunter. Except for some physical work, girls are as capable as boys. Girls even have lots of advantages over boys. For instance, girls are stronger in social communication. They are innately skilled to express themselves effectively and to show understanding to others. They tend to be more patient, easier to get along with, and usually have better command of foreign languages. [共5题] 
(1) Who may be most interested in the advice given in this passage? 
  (A) Bosses of big companies.  
  (B) Officers who take in employees.  
  (C) Students who will soon graduate.  
  (D) People with much work experience.  
正确答案：C 
(2) The first suggestion given in the passage is that you should ________. 
  (A) learn to write a resume soon after you enter the university  
  (B) try your best to achieve excellent results at university  
  (C) write your resume during all the years at university  
  (D) fully enjoy the four years of your university life  
正确答案：B 
(3) Before applying for a job, you should make sure of ________. 
  (A) your interests and strong points  
  (B) your life experiences and skills  
  (C) the job or jobs that are easier for you to find  
  (D) the company that can offer you a good job  
正确答案：A 
(4) In the opinion of human resources officers, girls ________. 
  (A) tend to be difficult to appear friendly  
  (B) should have confidence in themselves  
  (C) demand more understanding from others  
  (D) like to express their ideas freely  
正确答案：B 
(5) The best title for the passage might be ________. 
  (A) Secrets of Getting a Well-paid Job  
  (B) What to Write in Resume  
  (C) Advantages of Girl Job-Hunters  
  (D) How to Succeed in Job Hunting  
正确答案：D 
参考答案：
124. As she walked round the huge department store, Edith reflected how difficult it was to choose a suitable Christmas present for her father. She wish that he was as easy to please as her mother, who was always delighted with perfume. Besides, shopping at this time of the year was a most disagreeable experience: people trod on your toes, poked you with their elbows and almost knocked you over in their haste to get to a bargain ahead of you. Partly to have a rest, Edith paused in front of a counter where some attractive ties were on display. “They are real silk,” the assistant assured her, trying to tempt her. “Worth double the price.” But Edith knew from past experience that her choice of ties hardly ever pleased her father. She moved on reluctantly and then quite by chance, stopped where a small crowd of man had gathered round a counter. She found some good quality pipes on sale—and the prices were very reasonable. Edith did not hesitate for long: although her father only smoked a pipe occasionally, she knew that this was a present which was bound to please him. When she got home, with her small well-chosen present concealed in her handbag, her parents were already at the supper table. Her mother was in an especially cheerful mood, “Your father has at last to decided to stop smoking.” She informed her daughter. [共5题] 
(1) Edith’s father ________. 
  (A) did not like present  
  (B) never got present  
  (C) preferred ties  
  (D) was difficult to choose a present for  
正确答案：D 
(2) The assistant spoke to Edith because she seemed ________. 
  (A) attractive    (B) interested in ties    (C) tired    (D) in need of comfort  
正确答案：B 
(3) Edith stopped at the next counter ________. 
  (A) purposely    (B) suddenly    (C) unwillingly    (D) accidentally  
正确答案：D 
(4) Edith’s father smoked a pipe ________. 
  (A) when he was obliged    (B) on social occasions  
  (C) from time to time D)    (D) when he was delighted  
正确答案：C 
(5) Shopping was very disagreeable at that time of the year because ________. 
  (A) customers were doing their shopping in a great hurry  
  (B) customers poked each other with their elbows  
  (C) customers knocked each other  
  (D) customers trod on each other’s toes  
正确答案：A 
参考答案：
125. What do you do when you have a 1-jiao coin in your pocket? Perhaps you buy a piece of candy. Maybe you give it to a homeless man in the street. But have you ever used a jiao to fly to a foreign country? Last summer, I flew from London, UK, to Madrid, Spain, and then on to Faro, Portugal, and all the way back home. The cost of these four flights was just 4 pence (4 jiao). It even included all the taxes. Although it was a special offer, it is common to be able to fly between Europe’s major cities for around ￡20 a journey. These days, many young people, especially students, choose this cheap travel as a way of visiting countries around Europe. But don’t expect to be treated like royalty (皇族). Seats are normally cramped, in order to pack as many people as possible onto the flight. Food and drink, which tends to be provided for free on an airplane, is costly. And if you want to watch a movie to pass the time, you’d better buy a potable DVD player with you. The problem with these flights is that added extras cost a lot of money. If you want to buy food on the plane, check-in a big suitcase and get a priority-boarding pass that allows you to skip the line, you can end up paying close to the price of a normal flight. [共5题] 
(1) What did the author do with several 1-jiao coins? 
  (A) He bought some candy.  
  (B) He gave them to a homeless man.  
  (C) He traveled four countries.  
  (D) He took four flights.  
正确答案：D 
(2) Which of the following is TRUE about the author’s journey? 
  (A) It began from London, and ended in London.  
  (B) It began from London, and ended in Faro.  
  (C) It began from London, and ended in Portugal.  
  (D) It began from Madrid, and ended in London.  
正确答案：A 
(3) According to paragraph 3, many students choose the travel because ________. 
  (A) it is a special offer  
  (B) it is cheap  
  (C) it includes Europe’s major cities  
  (D) it is a way of visiting countries around Europe  
正确答案：B 
(4) The meaning of the underlined word “cramped” in paragraph 4 is closest to ________. 
  (A) broad    (B) tight    (C) narrow    (D) comfortable  
正确答案：C 
(5) We can infer from the passage that ________. 
  (A) cheap flights have many disadvantages  
  (B) food and drink are expensive on cheap flights  
  (C) there is no potable DVD player on cheap flights  
  (D) cheap flights provide a priority-boarding pass  
正确答案：A 
参考答案：
126. Is it difficult for you to get up in the morning? Do you sometimes oversleep? Are you often late for work or school? Yes? Then Hiroyuki Sugiyama of Japan has a special bed for you. Hiroyuki’s bed will get you up in the morning! Here is how it works: The bed is connected to an alarm clock. First, the alarm clock rings. You have a few minutes to wake up. Next, a tape recorder in the bed plays soft music or other pleasant sounds. A few minutes later, a second recording plays. The second recording can be loud music or unpleasant sounds. If you don’t get up after the second recording, you’ll be sorry. A mechanical “foot” is in the bed. The mechanical foot kicks you in the head. Then the bed waits a few more minutes. What! You’re still in bed! Slowly, the top of the bed rises higher and higher. The foot of the bed goes lower and lower. Finally, the bed is vertical. You slide off the bed and onto the floor. You are awake and out of bed. Hiroyuki made his bed because he wanted to win a contest. He works for Honda Motor Company. Once every two years, Honda has a contest—the “All Honda Idea Contest”. In 1996 Hiroyuki won a prize for his bed. [共5题] 
(1) The purpose of the passage is ________. 
  (A) to praise Hiroyuki  
  (B) to tell a story  
  (C) to introduce a special bed  
  (D) to wake somebody up  
正确答案：C 
(2) What does the special bed do first in the morning? 
  (A) Its tape recorder plays soft music.  
  (B) Its tape recorder plays loud music.  
  (C) It kicks you in the head.  
  (D) Its alarm clock rings.  
正确答案：A 
(3) If you don’t wake up after the clock rings, what will happen? 
  (A) The bed becomes vertical and you slide off the bed.  
  (B) The tape recorder plays pleasant sounds.  
  (C) You will be late for work.  
  (D) The mechanical “foot” kicks you in the head.  
正确答案：D 
(4) Hiroyuki made such a special bed because ________. 
  (A) he wanted to win the contest held by his company.  
  (B) he was good at inventing new things.  
  (C) he wanted to make money.  
  (D) he sometimes overslept.  
正确答案：A 
(5) Who is Hiroyuki? 
  (A) A scientist.    (B) A company worker.    (C) An inventor.    (D) A carpenter.  
正确答案：B 
参考答案：
127. Bullying (欺凌弱小) is a big problem that affects lots of kids. Three-quarters of all kids say they have been bullied or teased. Being bullied can make kids feel really bad. The stress of dealing with bullies can make kids feel sick. Bullying can make kids not want to play outside or go to school. It’s hard to keep your mind on schoolwork when you’re worried about how you’re going to deal with the bully near your locker. Bullying bothers everyone—and not just the kids who are getting picked on. Bullying can make school a place of fear and can lead to more violence and more stress for everyone. Some bullies are looking for attention. They might think bullying is a way to be popular or to get what they want. Most bullies are trying to make themselves feel more important. When they pick on someone else, it can make them feel big and powerful. Sometimes bullies know that what they are doing or saying hurts other people. But other bullies may not really know how hurtful their actions can be. Most bullies don’t understand or care about the feelings of others. Bullies often pick on someone they think they can have power over. They might pick on kids who get upset easily or who have trouble sticking up for themselves. Sometimes bullies pick on someone who is smarter than they are or different from them in some way. Sometimes bullies just pick on a kid for no reason at all. [共5题] 
(1) According to paragraphs 1 and 2, which of the following is NOT TRUE? 
  (A) Bullying makes kids frightened.  
  (B) Bullying usually happens in school.  
  (C) Bullying brings about more violence.  
  (D) Bullying is not a serious problem.  
正确答案：D 
(2) Bullying happens because bullies ________. 
  (A) want people to pay attention to them  
  (B) feel they are unimportant  
  (C) feel big and powerful  
  (D) both A and C  
正确答案：D 
(3) We can infer from paragraph 4 that ________. 
  (A) most bullies just care for themselves  
  (B) most bullies don’t know they are hurting people  
  (C) most bullies stop bullying when they know they are hurting people  
  (D) most bullies conduct hurtful actions  
正确答案：A 
(4) Bullies usually pick on someone who is ________. 
  (A) more powerful than themselves  
  (B) weaker than themselves  
  (C) totally different from themselves  
  (D) as clever as themselves  
正确答案：B 
(5) The author writes the passage in order to ________. 
  (A) describe bullying    (B) argue about bullying  
  (C) analyze bullying     (D) narrate bullying  
正确答案：C 
参考答案：
128. What will man be like in the future—in 5,000 or even 50,000 years from now? We can only make a guess, of course, but we can be sure that he will be different from what he is today. For man is slowly changing all the time. Let us take an obvious example. Man, even five hundred years ago, was shorter than he is today. Now, on average, men are about three inches taller. Five hundred years is a relatively short period of time, so we may assume that man will continue to grow taller. Again, in the modern world we use our brains a great deal. Even so, we still make use of only about 20% of the brain’s capacity. As time goes on, however, we shall have to use our brains more and more—and eventually we shall need larger ones. This is likely to bring about a physical change too: the head, in particular the forehead, will grow larger. Nowadays our eyes are in constant use. In fact, we use them so much that very often they become weaker and we have to wear glasses. But over a very long period of time it is likely that man’s eyes will grow stronger. On the other hand, we tend to make less use of our arms and legs. These, as a result, are likely to grow weaker. At the same time, however, our fingers will grow more sensitive because they are used a great deal in modern life. But what about hair? This will probably disappear from the body altogether in course of time because it does not serve a useful purpose any longer. In the future, then, both sexes are likely to be bald. Perhaps all this gives the impression that future man will not be a very attractive creature to look at. This may well be true. All the same, in spite of all these changes, future man will still have a lot in common with us. He will still be a human being, with thoughts and emotions similar to our own. [共5题] 
(1) Future man is likely to be different from us ________. 
  (A) in quite a few ways  
  (B) in almost every way  
  (C) in great many ways  
  (D) in one or two ways  
正确答案：A 
(2) The reason for believing that future man will be different is that man ________. 
  (A) began to change five hundred years ago  
  (B) never stops changing  
  (C) never stops growing  
  (D) has recently begun to change  
正确答案：B 
(3) People’s heads will eventually grow larger. This is because their brains ________. 
  (A) will grow faster than at present  
  (B) will need more room than at present  
  (C) will play an important part  
  (D) will be in constant use  
正确答案：D 
(4) Future man will probably ________. 
  (A) have bigger eyes    (B) get weaker eyes  
  (C) see better         (D) have to wear better glasses  
正确答案：C 
(5) Future man’s hair will ________. 
  (A) grow darker          (B) stop growing completely  
  (C) fall out more often    (D) get longer  
正确答案：B 
参考答案：
129. This product is guaranteed by Philips for a period of one year after the date of purchase against defects due to faulty workmanship or materials. The guarantee covers both parts and labor. Service under guarantee is only provided upon presentation of reasonable evidence (e.g. completed guarantee card or purchase receipts) that the date of the claim is within the guarantee period. The guarantee is not valid if the defect is due to accidental damage (including in transport), misuse or neglect and in case of alterations or repair carried out by unauthorized persons. The guarantee may not apply if the product requires modification or adaptation to enable it to operate in any country other than the country for which it was designed, manufactures, approved and/or authorized or if any damage result from these modifications. Service (during and after guarantee) is available in all countries where this product is officially distributed by Philips. In countries where Philips do not distribute the product, the local Philips Service organization will also provide service although there may be a delay if the appropriate spare parts and technical manuals are not readily available. These statements do not affect your statutory (法定的) rights as a consumer. In the event of difficulty please contact the Philips Information Center in any country (see encloses addresses). [共5题] 
(1) Service under guarantee is available when ________. 
  (A) the purchase date meets with the guarantee period  
  (B) a purchase receipt within the validity of the guarantee is presented  
  (C) the product is damaged  
  (D) repair needs to be carried out  
正确答案：B 
(2) The guarantee is not provided if the defect is the result of ________. 
  (A) mishandling  
  (B) moditication for use in other countries  
  (C) unauthorized alterations  
  (D) all of the above  
正确答案：D 
(3) What is necessary when one claims for the guarantee? 
  (A) The damaged part of the machine.  
  (B) The purchase receipt for the machine.  
  (C) The technical workbook for the right model.  
  (D) The official approval of the local Philips Information Center.  
正确答案：B 
(4) As a rule, the guarantee service is ________. 
  (A) delayed for some time  
  (B) delayed for some time  
  (C) given to local consumers  
  (D) ignored in some countries  
正确答案：C 
(5) What can be inferred from the passage? 
  (A) Philips Service has a very large network over the world.  
  (B) A Philips product call be used in all countries in the world.  
  (C) One will surely need the guarantee service after the purchase of a Philips product.  
  (D) There is some difficulty contacting the Philips Information Center.  
正确答案：A 
参考答案：
130. Generations of Americans have been brought up to believe that a good breakfast is one of life’s essentials. Eating breakfasts at the start of the day, we have all been told, and told again, is as necessary as putting gasoline in the family car before starting a trip. But for many people the thought of food first thing in the morning is by no means a pleasure. So despite all the efforts, they still take no breakfast. Between 1977 and 1983, the latest year for which figures are available, the number of people who didn’t have breakfast increased by 33 percent from 8.8 million to 11.7 million—according to the Chicago-based Market Research Corporation of America. For those who feel pain of guilt about not eating breakfast, however, there is some good news. Several studies in the last few years indicate that, for adults especially, there may be nothing wrong with omitting breakfast. “Going without breakfast does not affect performance,” said Amold Bender, former professor of nutrition at Queen College in London, “nor does giving people breakfast improve performance.” Scientific evidence linking breakfast to better health or better performance is surprisingly inadequate, and most of the recent work involves children, not adults. “The literature,” says one researcher, Dr. Emesto Polite at the University of Texas, “is poor.” [共5题] 
(1) The latest year for which figures could be obtained is ________. 
  (A) the year the author wrote the article  
  (B) any year between 1977 and 1983  
  (C) 1977  
  (D) 1983  
正确答案：D 
(2) For those who do not take breakfast, the good news is that ________. 
  (A) several studies have been done in the past few years  
  (B) the omission of breakfast does no harm to one’s health  
  (C) adults have especially made studies in this field  
  (D) eating little in the morning is good for health  
正确答案：B 
(3) “…, nor does giving people breakfast improve performance” (in Para.3 ) means ________. 
  (A) anyone without breakfast does improve his performance  
  (B) not giving people breakfast improves performance  
  (C) having breakfast does not improve performance, either  
  (D) people having breakfast do improve their performances, too  
正确答案：C 
(4) The word “literature” in the last sentence refers to ________. 
  (A) stories, poems, plays, etc.  
  (B) written works on a particular subject  
  (C) any printed material  
  (D) the modern literature of America  
正确答案：B 
(5) What is implied but NOT stated by the author is that ________. 
  (A) not eating breakfast might affect the health of children  
  (B) Dr. Polite is engaged in research work at an institution of higher learning  
  (C) breakfast does not affect performance  
  (D) Professor Bender once taught college courses in nutrition in London  
正确答案：A 
参考答案：
131. Walking is the easiest and simplest form of exercise. By putting one foot in front of the other, you can start to walk your ways towards a healthier lifestyle. Walking is an easy way to challenge the cardiovascular system (心血管系统), while at the same time building muscles. But to achieve these goals, a little more than a gentle walk around the block is required. Walking actually burns as many calories (卡路里) as running the same distance—if done in the correct manner and at a reasonable pace. Start with a basic program that you can complete three or four times a week. This should include five main steps: —A beginning warm-up for about 5 minutes. —A little bit faster period of 5 minutes at medium level. —A 10-minute “burning” at a high level. —A 5-minute slow down period at a medium level. —A 5-minute cool down period at a low level again. A suitable walking pace of around 5 kilometers per hour will burn around 80 calories in 30 minutes. [共5题] 
(1) According to the passage, walking is a simple way to ________. 
  (A) lose weight  
  (B) avoid heart attacks  
  (C) cure blood disease  
  (D) strengthen heart functions  
正确答案：B 
(2) In order to benefit from walking, we should ________. 
  (A) take it as a planned exercise  
  (B) move as gently as possible  
  (C) do it in a quiet place  
  (D) go as fast as possible  
正确答案：A 
(3) In the first 5 minutes of walking, you should walk ________ 
  (A) quickly    (B) slowly    (C) at top speed    (D) at medium pace  
正确答案：D 
(4) Compared with running the same distance, walking in the recommended way burns ________. 
  (A) fewer calories  
  (B) more calories  
  (C) a fixed number of calories  
  (D) the same number of calories  
正确答案：D 
(5) Which of the following is TRUE about the suggested walking program? 
  (A) Effective walking lies in the gradual increase speed.  
  (B) The same pace should be kept throughout the walking.  
  (C) One should not stop suddenly while walking fast.  
  (D) One should change one’s walking pattern every 5 minutes.  
正确答案：C 
参考答案：
132. Shoppers who carefully plan their visit to the grocery store can save money on their grocery bills. Shopping when not hungry, sticking to their grocery list, and _1_ a few simple rules will cut down the grocery bill. Shoppers should visit the grocery store on a full stomach by planning their trip _2_ after a large meal. If that’s not possible, they should find something healthy to eat on while preparing a grocery list. Most shoppers are less _3_ to buy extras when they are not troubled by hunger. Although having a list and _4_ to it is the most important factor in saving money, shoppers must prepare lists wisely in order to save. A carefully planned list should _5_ in season produce and any items on sale or discount through coupons. Many special buys are announced through the local newspapers, so buying the “grocery issue” is _6_ the money you spend. What’s more, it’s important to remember that many newer, more expensive products first offered through coupons may not _7_ enough savings for shoppers to give up products they usually buy. Now that the shopper has _8_ the grocery list, it’s time to leave for the store. However, no preparations are complete without a pocket calculator or a piece of paper and a pencil to figure costs. Once at the store, the shopper who wants to save money should follow a few more rules. The shoppers should not stay _9_ than necessary because bills go up each minute the shopper is in the store. So, _10_ a time limit and a cost limit can hold down the bill. [共10题] 
(1)  
  (A) carrying    (B) making    (C) taking    (D) following  
正确答案：D 
(2)  
  (A) recently    (B) regularly    (C) immediately    (D) completely  
正确答案：C 
(3)  
  (A) willingly    (B) likely    (C) reluctantly    (D) happily  
正确答案：B 
(4)  
  (A) sticking    (B) replying    (C) according    (D) belonging  
正确答案：A 
(5)  
  (A) keep    (B) make    (C) increase    (D) include  
正确答案：D 
(6)  
  (A) worth    (B) suitable    (C) value    (D) fit  
正确答案：A 
(7)  
  (A) come from    (B) result in    (C) succeed in    (D) depend on  
正确答案：B 
(8)  
  (A) saw    (B) taken    (C) completed    (D) read  
正确答案：C 
(9)  
  (A) shorter    (B) faster    (C) longer    (D) quicker  
正确答案：C 
(10)  
  (A) setting    (B) putting    (C) making    (D) taking  
正确答案：A 
参考答案：
133. In the summer vocation, I usually go to my relative’s home in the country to rest after many months in school in the city. The summer days I recently spent _1_ me with happy memories. Let me tell you our daily program _2_ the short stay and the country life we enjoyed there. We usually get up at six and took a walk _3_ the beautiful grassland of wild flowers. The air was so clean and fresh. The pretty birds had just risen from their sleep and were jumping from branch to branch, singing their merry songs. Soon the rays of the sun could be seen on the river. We _4_ under the shade of trees for an hour and then went home. During the afternoon, we went to swim in a small river till the glorious sun was _5_ in the west. Sometimes, after it rained, the sky _6_ to be more beautiful. After supper, people began to enjoy the refreshing soft wind outside. Then _7_ came the bright moon. Occasionally one or two meteors (流星) would suddenly run across the sky as if they were playing with the fireflies. _8_, the world was warpped in sleep. The sweet notes of flute were heard _9_ the woods. Oh, how touching the _10_ was! It made us forget all the worries of life. [共10题] 
(1)  
  (A) gave    (B) brought    (C) filled    (D) offered  
正确答案：C 
(2)  
  (A) during    (B) in    (C) between    (D) before  
正确答案：A 
(3)  
  (A) to    (B) along    (C) into    (D) towards  
正确答案：B 
(4)  
  (A) lay    (B) lie    (C) lain    (D) laid  
正确答案：A 
(5)  
  (A) rising    (B) arising    (C) setting    (D) setting down  
正确答案：D 
(6)  
  (A) got    (B) looked    (C) felt    (D) watched  
正确答案：B 
(7)  
  (A) around    (B) about    (C) over    (D) out  
正确答案：D 
(8)  
  (A) Now and then    (B) From then on  
  (C) By and by        (D) Up till now  
正确答案：C 
(9)  
  (A) over    (B) in    (C) through    (D) across  
正确答案：C 
(10)  
  (A) music    (B) song    (C) voice    (D) sound  
正确答案：A 
参考答案：
134. If you think you are sick, you are sick no matter what anyone else says. On the other hand, if you have belief in your doctor, and if he tells you that you’re going to feel better, you _1_ will. Take the case of Mrs. Brown for example. She was _2_ to get to sleep at night. She lacked energy and was too tired during the day even for the simple thing that she used to enjoy doing. Occasional headaches, which were becoming more frequent, _3_ reading or watching TV. The more she thought about her condition, _4_ she felt. At last, she went to see her doctor, _5_ she had known for years. The doctor listened to her complaints and gave her a fairly thorough examination. Then, he said to her, “There is _6_ seriously wrong with your physical condition, but I accept the fact that you don’t feel well. I am going to give you some pills that should _7_. I want you to take one after dinner and one a half hour before going to bed tonight. Call me tomorrow and tell me how you feel.” The next morning Mrs. Brown telephoned to say, “Doctor, it’s very nice of you. I had the first _8_ night’s sleep last night in two months. What on earth is in those pills?” The doctor said, “It’s an old formula I have used for years. Just _9_ taking them for a week.” Turning to his nurse, he said, “It’s _10_ what a little soda can do.” [共10题] 
(1)  
  (A) certainly    (B) really    (C) immediately    (D) probably  
正确答案：D 
(2)  
  (A) able    (B) unable    (C) going    (D) about  
正确答案：B 
(3)  
  (A) helped her with    (B) separated her from    (C) prevented her from    (D) about  
正确答案：C 
(4)  
  (A) the worse    (B) the more    (C) the better    (D) the happier  
正确答案：A 
(5)  
  (A) whose    (B) whom    (C) that    (D) which  
正确答案：B 
(6)  
  (A) everything    (B) anything    (C) nothing    (D) something  
正确答案：C 
(7)  
  (A) do    (B) use    (C) help    (D) take  
正确答案：C 
(8)  
  (A) good    (B) strange    (C) bad    (D) short  
正确答案：A 
(9)  
  (A) give up    (B) remember    (C) start    (D) keep on  
正确答案：D 
(10)  
  (A) necessary    (B) wonderful    (C) important    (D) harmful  
正确答案：B 
参考答案： 
